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1. BREROE

(1) BEIREE
OEARFEERLE [o0] [1,000] [1,000] [1,000]
EARAMESZTHE 0 1,000 1,000 1,000
QB\H£INEE [o0] [16,455,000] [16,455,000] [705,000] [17,160,000]
ZMARE 0 1,320,000 1,320,000 1,320,000
ZHRRE 0 15,135,000 15,135,000 705,000 15,840,000
O350k [67,394,000] [58,000] [67,452,000] [67,452,000]
ZHMEHEHNS 33,775,000 33,775,000 33,775,000
R &RE%E 0 58,000 58,000 58,000
ZHREMEHMESIRES 23,166,000 23,166,000 23,166,000
BEEEXIEN REEIREEE 10,453,000 10,453,000 10,453,000
@BEEEERE [25,000] [1,000] [26,000] [26,000]
BEEEZTME 25,000 1,000 26,000 26,000
G}V [8,385,000] [258,000] [8,643,000] [8,643,000]
ZHAE 3,000 1,000 4,000 4,000
EHe 8,382,000 8,382,000 8,382,000
ZHMAEH 110,000 110,000 110,000
MR 2R 147,000 147,000 147,000
BHIAAERHA) 75,804,000 16,773,000 92,577,000 705,000 93,282,000

(2)BEER
DExE [80,168,000] [25,272,000] [105,440,000] [105,440,000]
$REN 5,708,000 3,000,000 8,708,000 8,708,000
HBRFY 13,718,000 5,781,000 19,499,000 19,499,000
BRI ER 230,000 410,000 640,000 640,000
=k 8,456,000 2,567,000 11,023,000 11,023,000
EIEEE 5,263,000 1,457,000 6,720,000 6,720,000
XEE 0 35,000 35,000 35,000
REXEE 126,000 247,000 373,000 373,000
BIEEWE 1,476,000 117,000 1,593,000 1,593,000
HERE 867,000 621,000 1,488,000 1,488,000
HEHSRERE 0 296,000 296,000 296,000
RIS AE 1,508,000 57,000 1,565,000 1,565,000
EIEE 0 400,000 400,000 400,000
S E 198,000 3,720,000 3,918,000 3,918,000
FERARRVEREH 1,279,000 251,000 1,530,000 1,530,000
REEH 0 545,000 545,000 545,000
S FEk 592,000 73,000 665,000 665,000
EZ/N-Fikn 118,000 118,000 118,000
RitE 970,000 1,458,000 2,428,000 2,428,000
LEEERE 0 0 0
EYiEiENE 3,799,000 3,799,000 3,799,000
hESRIEENE 0 0 0
BERHRIMERNE 0 0 0
FAHEK 22 SRR iR (A & 0 0 0
HaERBmENE 320,000 320,000 320,000
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BEI5ILSBALE 6,158,000 6,158,000 6,158,000
B IREL R MEE 12,713,000 12,713,000 12,713,000
BEELIEMNEHNE 10,453,000 10,453,000 10,453,000
BEEEYESREZE—MRERE 10,453,000 10,453,000 10,453,000
QEEE [0] [o] [0] [705,000] [705,000]
HBHEFY 441,000 441,000
BT E 11,000 11,000
BHELE 78,000 78,000
R 10,000 10,000
REXBE 160,000 160,000
RILF 5,000 5,000
BREERHB) 80,168,000 25,272,000 105,440,000 705,000 106,145,000
LA R R EE(A)-(B)=(C) A 4,364,000 A 8,499,000 A 12,863,000 0 A 12,863,000
2. @ENEEOL
(1) #EENIREE
OZm#HBE
SHENEHNE
@ D IREE
BEBIMERAR
£ESMREFHD) 0 0 0 0 0
(2)®RENER
O & EFER
BEERERKREE
EENERHE) 0 0 0 0 0
AR S R ED)-(E)=(F) 0 0 0 0 0
4 57 — % 1F Bk B 2E 18 SR 88 (C)+(F)=(G) A 4,364,000 A 8,499,000 A 12,863,000 0 A 12,863,000
—BIERM EYEERH) 158,857,000 124,794,000 283,651,000 0 283,651,000
— B IERR B EY R B (GHH)=D 154,493,000 116,295,000 270,788,000 0 270,788,000
I $5FELKEEEROLH
QL35 [70,453,000] [70,453,000] [70,453,000]
THEMNSEDS 60,000,000 60,000,000 60,000,000
BEBEXEMNERDE 10,453,000 10,453,000 10,453,000
QR EEEERL [127,000] [127,000] [127,000]
BEEEZIF A 127,000 127,000 127,000
QZmFHE [0] [0] [o]
ZHEHE 0 0 0
@—BIEKRME~DEREE [ A12,713,000] [ A58,000] [A12,771,000] [ A12,771,000]
— R IEREAE A~ DIRESE A 12,713,000 A 58,000 A 12,771,000 A 12,771,000
L4 HA45 T TE Wk B B 1 R EE (V) 57,867,000 A 58,000 57,809,000 0 57,809,000
EEEHRMENEERSK 10,000,191,000 31,377,000 10,031,568,000 0 | 10,031,568,000
5 5E IERK B EE AR A (DHK)=(L) 10,058,058,000 31,319,000 10,089,377,000 0 | 10,089,377,000
I EGkHEHRBEDHL=M) 10,212,551,000 147,614,000 10,360,165,000 0 | 10,360,165,000




